
70

 !" 625.85:678.046 

 .!. "#$%&'(', ).). !*+%('+

 !"#$%&' ()*&+(),-(.' &$$,!/+0)1!,-$%&'

2+,&1!3(&4!$%&' 5(&0!"$&1!1, 6+$$&7

,- )./.0/ 10203!-4/5 .06/,305 ,)!7,8) 94 

, :-04/./.0/4 ,8 ;0<02 8!- -4!"0103 8!- 

«=.0-/4» 0 ,8 ;0<02 8!-  «5-02!8!:»

 !"#$%$&' !$()*+,-,' "..*$%/#-&"0 #*"0&"0 .,-1"*"("!)23"4

%/1-#/5 &- 6"("5/-7$4-&"8$.5"$ .#/9.,#- 3$1$&/8&/-7-.,"8&/:/ -.-

6-*+,/1$,/&- (;<=), >/*)8$&&'$ >!" ".>',-&"04 *-1/!-,/!&'4 /1-

!-(?/#.  !/#$%$&/ @5/&/7"8$.5/$ .!-#&$&"$ >/%/1!-&&'4 ./.,-#/# 3$-

1$&/8&/-7-.,"8&/9 -.6-*+,/1$,/&&/9 .7$.".

 !"#$%&$ '!(%): 3$1$&/8&/-7-.,"8&-0 -.6-*+,/1$,/&&-0

.7$.+ (;<=A), 3$1$&/8&/-7-.,"8&'9 -.6-*+,/1$,/& (;<=), .,-1"-

*"("!)23-0 %/1-#5-.

#$%&' ()**+, -).+/0 12%1$/31 4+(.+- 3+3/)2) 567, 4-+2$($*8$
8340/)*8, 8 3-)2*$*8$ 98:8;+-<$=)*8>$3;8= 32+,3/2 567 3 834+%&:+-
2)*8$< 3/).8%8:8-?'@$, 8 <+(898A8-?'@$, (+.)2;8 « *8-$<»

(BBB « CD"B6», E. 6+3;2)) 8 3/).8%8:8-?'@$, (+.)2;8 «F-8:+/+4»

(BBB «F-8:+/+4», E. G;)/$-8*.?-E).
H)()>8 833%$(+2)*81:
1) 4+(.+- +4/8<)%&*+E+ 4-+A$*/*+E+ 3+($-I)*81 <+(898;)/+-)-

3/).8%8:)/+-) « *8-$<» 8 3/).8%8:)/+-) «F-8:+/+4» 2 567, 4-8 ;+-

/+-+< <)/$-8)%0 .?(?/ ?(+2%$/2+-1/& /-$.+2)*81< JBKL 31015–2002; 

2) M;+*+<8>$3;+$ 3-)2*$*8$ (2?= 4+(+.-)**0= 3+3/)2+2 3 -):-
*0<8 (+.)2;)<8.

*(+,-,.,/0"1)2 – '3)4,!,5,/0"1)2 '&60#)2 +(4)%7) «89,-

/$:» +!2 6/(,5%(+'3%) ;*< (=. *('7%)).  *82$-3)%&*0, <+(898;)-
/+- )39)%&/+.$/+*+2 « *8-$<» 4-$(3/)2%1$/ 3+.+, 304?>8, ;+<4+:8-

A8+**0, <)/$-8)% *) +3*+2$ );/82*+E+ 4+-+N;) (83;-$/*+ ($2?%;)*8-

:+2)**+, -$:8*0, 4+%?>)$<+E+ <$/+(+< 203+;+/$<4$-)/?-*+E+ 3(28-

E+2+E+ 8:<$%&>$*81 8: *$3+-/8-+2)**0= +/-).+/)**0= )2/+4+;-0N$;
+/$>$3/2$**+E+ 8 8<4+-/*+E+ 4-+8:2+(3/2).
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O-8 22$($*88 <+(898;)/+-) « *8-$<» 2 E+-1>8, .8/?< 4-+83-
=+(8/ .03/-0, -)34)( >)3/8A <+(898;)/+-) *) *)*+.%+;8, ;+/+-0$
4-82+(1/ ; +.-):+2)*8' 3/-?;/?-8-+2)**+E+ *) *)*+?-+2*$ -$:8*+.8-

/?<*+E+ 21I?@$E+. « *8-$<» 8:<$*1$/ 3/-?;/?-? .8/?<), ($%)1 $E+
3/+,;8< ; -)3/-$3;82)*8' 2 N8-+;+< 8*/$-2)%$ /$<4$-)/?-, ) /);I$
3?@$3/2$**+ ?2$%8>82)$/ 3/+,;+3/& 4+;-0/81 ; +.-):+2)*8' ;+%$8.

6+(898;)/+- « *8-$<» *$ /-$.?$/ 4-$(2)-8/$%&*+E+ 4+(+E-$2)
8 22+(8/31 2 3<$38/$%& )39)%&/+.$/+**+, 3<$38 +(*+2-$<$**+ 3 .8/?-

<+< 8%8 3-):? I$ 4+3%$ 22$($*81 .8/?<). O-8 4-+8:2+(3/2$ 567 3
« *8-$<» *$ 2+:*8;)$/ *$+.=+(8<+3/8 834+%&:+2)*81 3/).8%8:8-?'-

@8= (+.)2+; *) +3*+2$ A$%%'%+:*+E+ 2+%+;*).
!%1 3/-+8/$%&3/2) (+-+E 2 :+*)= ?<$-$**+E+ ;%8<)/) -$;+<$*-

(?$<+$ 3+($-I)*8$ <+(898;)/+-) « *8-$<» 3+3/)2%1$/:
• 2 )39)%&/+.$/+*)= /84) 7, P – 10 % +/ 3+($-I)*81 .8/?<);
• 2 )39)%&/+.$/+*)= /84) 567 – 10 % +/ 3+($-I)*81 .8/?<);

4-8 M/+< *$ /-$.?$/31 22$($*81 (+4+%*8/$%&*0= 3/).8%8:8-?'@8=
(+.)2+;.

>3)4,!,5,/0"1)2 =/)90!,/(%)99)2 +(4)%7) «?/,5(3(6» +!2

6/(,5%(+'3%) ;*< (=. @7)3$/,940/=). F-8:+/+4 – E-)*?%8-+2)**0,
3/).8%8:)/+- (%1 @$.$*+>*+-<)3/8>*+E+ )39)%&/+.$/+*), 4-$(3/)2%1-
$/ 3+.+, 34-$33+2)**0$ E-)*?%0 <8*$-)%&*+E+ 2+%+;*) 3 +-E)*8>$-
3;8< 321:?'@8<. Q $E+ 3+3/)2 2=+(8/ =-8:+/8%, ;+/+-0, 12%1$/31
<)E*$:8)%&*0< E8(-+38%8;)/+< 8 8<$$/ 2+%+;*83/+$ 3/-+$*8$. Q)I-

*0<8 98:8;+-=8<8>$3;8<8 32+,3/2)<8 =-8:+/8%) 12%1'/31 4-+>*+3/&
$E+ 2+%+;+* *) -):-02, M%)3/8>*+3/&, 4-1(8%&*0$ ;)>$3/2), +E*$?4+--

*+3/&, @$%+>$3/+,;+3/&. B* A$*8/31 :) 203+;8$ 3+-.A8+**0$, /$4%+-,

:2?;+- 8 M%$;/-+8:+%1A8+**0$ 32+,3/2), 34+3+.*+3/& +/-)I)/& -)(8)-
A8+**+$ 8:%?>$*8$ 8 (-.

!+.)2;) 8:E+/)2%82)$/31 8: <8*$-)%&*+E+ (=-8:+/8%+2+E+) 2+-

%+;*) 8 +.%)()$/ -1(+< 3?@$3/2$**0= 4-$8<?@$3/2 4$-$( )*)%+E8>-

*0<8 4-+(?;/)<8.

P%)E+()-1 203+;+, /$-<+3/+,;+3/8 ((+ 700 °K) 2+%+;*+ *$ +.E+-

-)$/, *$ +4%)2%1$/31 8 *$ /$-1$/ 32+8= 32+,3/2 4+( 2+:($,3/28$< /$<-

4$-)/?-0, 4+M/+<? *$/ *$+.=+(8<+3/8 2 3/-+E+< /$=*+%+E8>$3;+< ;+*-

/-+%$ :) /$<4$-)/?-+, 4-+A$33) 4-8 3<$N82)*88 3 -):+E-$/0< ;)<$*-

*0< <)/$-8)%+<.
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Q03+;)1 4-+>*+3/& =-8:+/8%+2+E+ 2+%+;*) *) -):-02 4-8()$/
4+20N$**?' 4-+>*+3/& )39)%&/+.$/+*?.

K4+3+.*+3/& 2+%+;*) 4?N8/&31 *) .+%$$ <$%;+$, ) *$ 83/8-)/&31
2 40%& ?%?>N)$/ )-<8-?'@8$ 32+,3/2) (+.)2;8.

R2%113& *$+-E)*8>$3;8< 2$@$3/2+<, =-8:+/8%+2+$ 2+%+;*+ *$
4+(2$-I$*+ 2+:($,3/28' 30-+3/8, .);/$-8,, E-8.;+2 8 E-0:?*+2, .%)-
E+()-1 >$<? *$/ *$+.=+(8<+3/8 3++-?I)/& 34$A8)%&*0$ +/)4%82)$<0$
3;%)(0 (%1 $E+ =-)*$*81.

S$;+<$*(?$<0, -)3=+( (+.)2;8 3+3/)2%1$/ 0,3–0,5 %. 

Q ;)>$3/2$ <)/$-8)%) (%1 4-+2$($*81 8340/)*8, .0% 20.-)*
567-20. C) 4$-2+< M/)4$ .0% 3($%)* 4+(.+- :$-*+2+E+ 3+3/)2)
567, 3 834+%&:+2)*8$< 3%$(?'@8= <)/$-8)%+2 (/).%. 1): 

• @$.$*& 9-. 10–20 << – ;)-&$- H7B «J)..-+»,K2$-(%+23;)1 +.%.;
• @$.$*& 9-. 5–10 << – ;)-&$- H7B «J)..-+», K2$-(%+23;)1 +.%.; 
• 4$3+; 8: +/3$2+2 (-+.%$*0, 9-. 0–5 << – BBB «")-&$- Q+3-

/+>*0,», K2$-(%+23;)1 +.%.;

• <8*$-)%&*0, 4+-+N+; 6O-1 );/828-+2)**0, – BBB «O-+-

E-$33», E. C$2&1*3;;
• .8/?< *$9/1*+, (+-+I*0, 21:;8, PC! 90/130 – BBB «T -

"BUT–O$-<*$9/$+-E38*/$:», E. O$-<&.

L ) . % 8 A )  1  

 !"#$%$& '$'()% '*!'+

H$-*+2+, 3+3/)2
(4-+N%+ >$-$: 38/+ 3 +/2$-3/8$<, <<), % 4+ <)33$

V
4/4

6)/$-8)%
(4-+8:2+(8/$%&)

K
+(
$-
I
)*
8$

,

%

20 15 10 5 2,5 1,25 0,63 0,32 0,16 0,07

1 5$.$*& 10–20 <<
(;-- «J)..-+») 

62 59,3 31,2 3,2 0 0 0 0 0 0 0 

2 5$.$*& 5–10 <<
(;-- «J)..-+») 

10 10 10 9,5 0,2 0 0 0 0 0 0 

3 O$3+; 0–5 <<
(;-- «Q+3/+>*0,») 

14 14 14 14 13,3 8,7 6,2 3,7 2,1 1,5 1,0

4 6O );/828-.

(E. C$2&1*3;)
14 14 14 14 14 14 14 14 13,9 12,6 11,5

D LB JB  100 97,3 69,2 40,7 27,5 22,7 20,2 17,7 16,0 14,1 12,5

C$4-$-02*0, 3+3/)2 4+
JBKL 31015-2002 

min 

max

90

100

50

70

25

42

20

30

15

25

13

24

11

21

9

19

8

15

8

13
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D340/)*81 <)/$-8)%+2 (%1 4-8E+/+2%$*81 @$.$*+>*+-<)3/8>*+,
)39)%&/+.$/+**+, 3<$38 (567K) .0%8 4-+2$($*0 3+E%)3*+ /-$.+2)-
*81< JBKL 31015–2002 4. 5.10 «L-$.+2)*81 ; <)/$-8)%)<». O+%?>$*-

*0$ -$:?%&/)/0 8340/)*8, 834+%&:?$<0= <)/$-8)%+2 3++/2$/3/2?'/
$E+ /-$.+2)*81< (-83?*+;).

S83. H$-*+2+, 3+3/)2 <8*$-)%&*+, >)3/8

!)%$$ .0%+ 8:E+/+2%$*+ /-8 3$-88 +.-):A+2 3+ -):%8>*0< 3+-

($-I)*8$< .8/?<) *$9/1*+E+ (+-+I*+E+ (PC! 90/130) 8 <+(898A8-

-?'@$, 8 3/).8%8:8-?'@$, (+.)2;8 « *8-$<» (/).%. 2). 

L ) . % 8 A )  2  

,$'()% $-")./$% '*!'+ 012 90/130 + «3#+"!*», % 

C+<$-
3+3/)2)

PC! 90/130 « *8-$<»

1 6,0 0,60 

2 6,5 0,65 

3 7,0 0,70 

!%1 +4-$($%$*81 98:8;+-<$=)*8>$3;8= 32+,3/2 .0%8 4-+2$($*0
8340/)*81 *) 3++/2$/3/28$ /-$.+2)*81< JBKL 31015–2002. O+%?>$*-

*0$ -$:?%&/)/0 32$($*0 2 /).%. 3. 
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L ) . % 8 A )  3  

4+.+5$-*!6)#+7!'5+! '%$&'(%) '$'()%$%

' 8$-)%5$& «3#+"!*»

W);/8>$3;8$ 4+;):)/$%8
O+;):)/$%&

L-$.+2)*81
JBKL 31015–

2002
P8/?< 6,0 %+
 *8-$< 0,6%

P8/?< 6,5%+ 
 *8-$< 0,65%

P8/?< 7,0%+
 *8-$< 0,7%

K-$(*11 4%+/*+3/&, E/3<3 C$ *+-<8-?-
$/31

2,54 2,54 2,55 

O+-83/+3/& <8*$-)%&*+,
>)3/8 4+ +.X$<?, % K2. 15–19 17,5 17,9 18

B3/)/+>*)1 4+-83/+3/& 4+
+.X$<?, % K2. 1,5–4,5 3,13 2,38 1,28

Q+(+*)30@$*8$ 4+ +.X$-
<?, % B/ 1,0–4,0 2,57 1,75 1,18

O-$($% 4-+>*+3/8 4-8
3I)/88, 6O):
4-8 /$<4$-)/?-$ 20 °K
4-8 /$<4$-)/?-$ 50 °K

C$ <$*$$ 2,2
C$ <$*$$ 0,65

2,65
1,08

2,40
0,94

2,05
0,73

Q+(+3/+,;+3/& 4-8 (%8-
/$%&*+< 2+(+*)30@$*88

C$ <$*$$
0,85

0,80 0,86 0,89 

KA$4%$*8$ 21I?@$E+ 3
4+2$-=*+3/&' <8*$-)%&-
*+, >)3/8

!+%I*)
20($-I82)/&

Q0($-I8-
2)$/

Q0($-I8-
2)$/

Q0($-I8-
2)$/

C).?=)*8$ 4+ +.X$<?, % C$ *+-<8-?-
$/31

0,17 0,05 0,02 

O-$($% 4-+>*+3/8 *) -)3-
/1I$*8$ 4-8 -)3;+%$, 6O) B/ 2,5–6,0 2,80 2,70 2,4

K(28E+?3/+,>82+3/&:
;+M998A8$*/ 2*?/-$**$-

E+ /-$*81
3A$4%$*8$ 4-8 3(28E$ 4-8

/$<4$-)/?-$ 50 °K,6O)

C$ <$*$$ 0,93

C$ <$*$$ 0,18

0,95

0,26

0,95

0,22

0,95

0,17

O+;):)/$%& 3/$;)*81 21-
I?@$E+ 4+ <)33$, % C$ .+%$$ 0,20 0,17 0,18 0,22

D: /).%. 3 28(*+, >/+ 3+3/)2 3 3+($-I)*8$< .8/?<) 2 ;+%8>$3/2$
6,5 % 8 3/).8%8:)/+-)-<+(898;)/+-) « *8-$<» 2 ;+%8>$3/2$ 0,65 % 4+
23$< =)-);/$-83/8;)< ?(+2%$/2+-1$/ /-$.+2)*81< JBKL 31015–2002. 

!%1 8340/)*81 3/).8%8:)/+-) «F-8:+/+4» /);I$ .0%8 8:E+/+2%$-
*0 /-8 3$-88 +.-):A+2. L); ;); «F-8:+/+4» *$ 12%1$/31 <+(898A8-?'-

@$, (+.)2;+,, (%1 -)2*+A$**+E+ 3-)2*$*81 2 3+3/)2$ 567 3<$38 .0%+
834+%&:+2)*+ 4+%8<$-*+-.8/?<*+$ 21I?@$$ (PC! 90/130 + !7!-1). 

!7!-1 – )(E$:8+**)1 (+.)2;). B(*+-+(*)1 4+(28I*)1 4)3/) /$<*+-

;+-8>*$2+E+ A2$/), *$ %$/?>)1, *$ 2:-02++4)3*)1, *$ /+;38>*)1
(BBB «K$%$*)», P$%E+-+(3;)1 +.%.) (/).%. 4). 
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L ) . % 8 A )  4  

,$'()% $-")./$% '*!'+ 012 90/130 + 292-1

+ «:"+.$($;», % 

C+<$-
3+3/)2)

PC! 90/130 !7!-1 «F-8:+/+4»

1 6,5 0,5 0,30 

2 6,5 0,5 0,40 

3 6,5 0,5 0,50 

!%1 +4-$($%$*81 98:8;+-<$=)*8>$3;8= 32+,3/2 .0%8 4-+2$($*0
8340/)*81 *) 3++/2$/3/28$ /-$.+2)*81< JBKL 31015–2002. O+%?>$*-

*0$ -$:?%&/)/0 32$($*0 2 /).%. 5. 

L ) . % 8 A )  5  

4+.+5$-*!6)#+7!'5+! '%$&'(%) '$'()%$%

' 8$-)%5$& «:"+.$($;»

W);/8>$3;8$ 4+;):)/$%8

O+;):)/$%&
L-$.+2)*81
JBKL 31015–

2002

P8/?< 6,5%+ 

!7!-1 0,5%+ 

F-8:+/+4 0,3% 

P8/?< 6,5%+ 

!7!-1 0,5%+ 

F-8:+/+4 0,4% 

P8/?< 6,5%+ 

!7!-1 0,5%+ 

F-8:+/+4 0,5%

K-$(*11 4%+/*+3/&,
E/3<3

C$ *+-<8-?-

$/31
2,57 2,55 2,56 

O+-83/+3/& <8*$-
-)%&*+, >)3/8 4+
+.X$<?, % K2. 15–19 14,11 15,59 16,07

B3/)/+>*)1 4+-83-
/+3/& 4+ +.X$<?, % K2. 1,5–4,5 1,23 1,99 1,61

Q+(+*)30@$*8$ 4+
+.X$<?, % B/ 1,0–4,0 2,32 2,05 2,99

O-$($% 4-+>*+3/8
4-8 3I)/88, 6O):
4-8 /$<4$-)/?-$

20 °K
4-8 /$<4$-)/?-$

50 °K

C$ <$*$$ 2,2

C$ <$*$$ 0,65

1,66

0,48

2,41

0,66

2,46

0,77

Q+(+3/+,;+3/& 4-8
(%8/$%&*+< 2+(+*)-
30@$*88 C$ <$*$$ 0,85 0,68 0,86 0,64

KA$4%$*8$ 21I?@$E+
3 4+2$-=*+3/&' <8-

*$-)%&*+, >)3/8
!+%I*)

20($-I82)/& Q0($-I82)$/ Q0($-I82)$/ Q0($-I82)$/
C).?=)*8$ 4+ +.X-
$<?, % 

C$ *+-<8-?-
$/31

0,17 0,05 0,05 
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B;+ * > ) * 8 $ / ) . % .  5  
W);/8>$3;8$ 4+;):)/$%8

O+;):)/$%&
L-$.+2)*81
JBKL 31015–

2002

P8/?< 6,5%+ 
!7!-1 0,5%+ 
F-8:+/+4 0,3% 

P8/?< 6,5%+ 
!7!-1 0,5%+ 
F-8:+/+4 0,4% 

P8/?< 6,5%+ 
!7!-1 0,5%+ 
F-8:+/+4 0,5%

O-$($% 4-+>*+3/8 *)
-)3/1I$*8$ 4-8 -)3-
;+%$, 6O) B/ 2,5–6,0 1,59 2,67 2,7

K(28E+?3/+,>8-
2+3/&:
;+M998A8$*/

2*?/-$**$E+ /-$*81
3A$4%$*8$ 4-8

3(28E$ 4-8 /$<4$-)-
/?-$ 50 °K, 6O)

C$ <$*$$ 0,93

C$ <$*$$ 0,18

0,95

0,46

0,94

0,50

0,95

0,50

O+;):)/$%& 3/$;)*81
4+ <)33$, % C$ .+%$$ 0,20 0,17 0,17 0,17

D: /).%. 5 28(*+, >/+ 3+3/)2 3 3+($-I)*8$< .8/?<) 2 ;+%8>$3/2$
6,5 %, 3/).8%8:)/+-) «F-8:+/+4» 2 ;+%8>$3/2$ 0,4 % 8 (+.)2;8 !7!-1 

2 ;+%8>$3/2$ 0,5 % 4+ 23$< =)-);/$-83/8;)< ?(+2%$/2+-1$/ /-$.+2)*8-

1< JBKL 31015–2002. 

!)%$$ .0%) 3+3/)2%$*) ;)%&;?%1A81 *) 4-8E+/+2%$*8$ 100 /
567 4+(+.-)**0= 3+3/)2+2 (/).%. 6, 7). 

L ) . % 8 A )  6  

<)=>5?=@/+@ #) ;"+A$($%=!#+! 100 ( BC9-20

' 8$-)%5$& «3#+"!*»

V
4/4

O)-)E-)9
*+-<

C)8<$*+2)*8$ M%$-
<$*/+2 :)/-)/

G(.
8:<.

"+%8>$3/2+ #$*),
-?..

K<$/*)1 3/+8-
<+3/&, -?..

1 K#6-408-
0011-1

5$.$*&
9-. 10–20 <<

B.X$< = 57,7:1,6 

<3 36,0625 179,11 6459,15

2 K#6-408-0009 5$.$*&
9-. 5–10 <<

B.X$< = 9,4:1,6 

<3 5,875 183,18 1076,18

3 K#6-408-0166 O$3+; 8: +/3$2+2
9-. 0–5 <<

B.X$< = 13,1:1,5 

<3 8,733 64,18 560,50 

4 K#6-101-1804 68*$-)%&*0,
4+-+N+;

/ 13,1 701,31 9187,16

5 O-),3 K/).8%8:8-?'@)1
<+(898A8-?'@)1
(+.)2;) « *8-$<»

/ 0,6 57000 34200 

6 K#6-101-0073 PC! 90/130 / 6,1 1798,70 10972,07

D / + E + 4+ <)/$-8)%)<                                                    62455,07 
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L ) . % 8 A )  7  

<)=>5?=@/+@ #) ;"+A$($%=!#+! 100 ( BC9-20

' 8$-)%5$& «:"+.$($;»

V
4/4

O)-)E-)9
*+-<

C)8<$*+2)*8$ M%$-
<$*/+2 :)/-)/

G(.

8:<.

"+%8>$3/2+ #$*),
-?..

K<$/*)1 3/+8-

<+3/&, -?..

1 K#6-408-

0011-1

5$.$*&
9-. 10–20 <<
B.X$< = 58:1,6 

<3 36,25 179,11 6492,74 

2 K#6-408-

0009

5$.$*&
9-. 5–10 <<

B.X$< = 9,3:1,6 

<3 5,8125 183,18 1064,73 

3 K#6-408-

0166

O$3+; 8: +/3$2+2
9-. 0–5 <<

B.X$< = 13,1:1,5 

<3 8,733 64,18 560,51 

4 K#6-101-

1804

68*$-)%&*0,
4+-+N+;

/ 13,1 701,31 9187,16 

5 O-),3 K/).8%8:8-?'@)1
(+.)2;) «F-8:+/+4»

/ 0,4 31000 12200,00 

6 K#6-101-

0073

PC! 90/130 / 6,0695 1798,70 10917,21

7 O-),3 !+.)2;) (%1 .8/?<)
!7!-1

/ 0,0305 58500 1784,25 

D / + E + 4+ <)/$-8)%)<                                                       42206,60 

O+%?>$**0$ ()**0$ 4+;):02)'/, >/+ 4-8E+/+2%$*8$ 100 / 567
3 (+.)2;+, «F-8:+/+4» 3/+8/ ($N$2%$, >$< 3 (+.)2;+, « *8-$<»

*) 32,4 %. 

O+(2+(1 8/+E ()**+, -).+/$, +/<$/8<, >/+ 3+3/)20 3 (+.)2;)<8
« *8-$<» 6,5 % 8 «F-8:+/+4» 4 % 4+%*+3/&' 3++/2$/3/2?'/ /-$.+2)-
*81< JBKL 31015–2002.

K-)2*82)1 M/8 3+3/)20 M;+*+<8>$3;8, <+I*+ +4-$($%8/&, >/+ 4-8-

E+/+2%$*8$ 567K 3 (+.)2;+, « *8-$<» .?($/ 3/+8/& (+-+I$ *) 32,4 %, 

>$< 4-8E+/+2%$*8$ 567K 3 (+.)2;+, «F-8:+/+4». B(*);+ 4-+E*+:8-

-?$<0, 3-+; 3%?I.0 4+;-0/81 567K 3 « *8-$<» 4+ ()**0< <+*8/+-
-8*E) M;34$-8<$*/)%&*0= ?>)3/;+2 3+3/)2%1$/ 18 %$/, ) 3 «F-8:+/+4» – 

12 %$/. B4-$($%82 4-82$($**0$ :)/-)/0 *) 1 E+( 3-+;) 3%?I.0 4+;-0/81
( 3 « *8-$<» – 3469,73, 3 «F-8:+/+4» – 3517,22 -?..), ($%)$< 202+(, >/+
4+(+.-)**0, 3+3/)2 3 <+(898;)/+-+<-3/).8%8:)/+-+< « *8-$<» 83-
4+%&:+2)/& 20E+(*$$ 2 3%?>)$ ?;%)(;8 567K *) (+-+E)= 203+;8= ;)/$-
E+-8, (I–II) 3 *+-<)/82*0< 3-+;+< 3%?I.0 15–20 %$/, *) (+-+E)= .+%$$
*8:;8= ;)/$E+-8, (III–IV) 3+ 3-+;+< 3%?I.0 10–15 %$/ 20E+(*$$ 4-8<$-
*$*8$ 3+3/)2)567K 3 (+.)2;+, «F-8:+/+4».
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L);8< +.-):+<, ; 4-8<$*$*8' 3/).8%8:8-?'@8= (+.)2+; (%1
567 *$+.=+(8<+ 4+(=+(8/&, 8:?>)1 4-$(2)-8/$%&*+ 32+,3/2) 4-8<$-
*1$<0= ;)<$**0= <)/$-8)%+2, 8= 2:)8<+($,3/28$ 3+ 3/).8%8:8-?'-

@8<8 (+.)2;)<8. O-82$($**0, 20N$ 4-8<$- *8 2 ;+$< 3%?>)$ *$ <+-

I$/ .0/& -)34-+3/-)*$* *) 3+3/)20 567 8: (-?E8= <)/$-8)%+2.
Q4+%*$ 2$-+1/*+, >/+ 4-8 ;);+<-/+ (-?E+< 3+3/)2$ 567 %?>N$ .?($/
-).+/)/& (+.)2;) «F-8:+/+4». D*)>$ E+2+-1, (%1 (+3/8I$*81 M;+*+<88
4-8 +(*+2-$<$**+< ?(+2%$/2+-$*88 4+;):)/$%$, /-$.+2)*81< JBKL
*$+.=+(8<+ *) 3/)(88 4+(.+-) 3+3/)2) 567 8:E+/)2%82)/& +.-):A0
3 4-8<$*$*8$< -):%8>*0= (+.)2+;, 2012%1/&, 4-8 ;);+< 4-+A$*/*+<
3+($-I)*88 +*8 -).+/)'/ *)8%?>N8< +.-):+<, 4+3%$ >$E+ +4-$($%1/&
M;+*+<8>$3;?' 20E+(? 8 +.%)3/& 4-8<$*$*81 567K.

,;+'$5 =+(!")(?"D

1. JBKL 31015–2002. K<$38 )39)%&/+.$/+**0$ 8 )39)%&/+.$/+*
@$.$*+>*+-<)3/8>*0$. L$=*8>$3;8$ ?3%+281.

2. JBKL 12801–98. 6)/$-8)%0 *) +3*+2$ +-E)*8>$3;8= 21I?@8=
(%1 (+-+I*+E+ 8 )M-+(-+<*+E+ 3/-+8/$%&3/2). 6$/+(0 8340/)*8,.

O+%?>$*+ 28.02.2012 


